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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ IÊS> 
Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎma àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 What do you mean by the concept of Marginalism?

		  gr‘mÝV H$s AdYmaUm go AmnH$m ³¶m Ame¶ h¡?
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	 (ii)	 Explain the meaning of Business cycle.

		  ì¶mnma MH«$ H$m AW© ñnîQ> H$s{OE&

	 (iii)	 Make out the difference between value and price.

		  ‘yë¶ Am¡a H$s‘V ‘| AÝVa ~VmBE&

	 (iv)	 Explain the Giffen Paradox.

		  {J{’$Z Ho$ {damoYm^mg H$mo g‘PmBE&

	 (v)	 Explain the meaning of Discriminating Monopoly.

		  {d^oXmË‘H$ EH$m{YH$ma H$m AW© ñnîQ> H$s{OE&

	 (vi)	 Define Implicit costs.

		  Amamo{nV bmJVm| H$mo n[a^m{fV H$s{OE&

	 (vii)	Define National Income at Factor Cost. (NIFC).

		  gmYZ bmJV na amîQ´>r¶ Am¶ H$mo n[a^m{fV H$s{OE&

	 (viii)	What do you mean by satisfying  profit?

		  g§VmofH$maH$ bm^ go AmnH$m ³¶m Ame¶ h¡?

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 Explain the various types of Elasticity of Demand.

	 ‘m±J H$s bmoM Ho$ {d{^ÝZ àH$ma ñnîQ> H$s{OE&
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3)	 Explain the Law of variable proportions with suitable illustration 

and diagram.

	 Cn¶w³V CXmhaU Am¡a aoIm{MÌ H$s ghm¶Vm go n[adV©Zerb AZwnmVm| Ho$ 
{Z¶‘ H$mo g‘PmBE&

4)	 Why price rigidity situation arises under oligopoly? Explain 

with reason and diagram.

	 Aënm{YH$ma Ho$ AÝVJ©V H$s‘V Ñ‹T>Vm H$s pñW{V ³¶m| CËnÝZ hmoVr h¡? 
VH©$ Ed§ aoIm{MÌ H$s ghm¶Vm go g‘PmBE&

5)	 Explain the various concepts of National Income.

	 amîQ´>r¶ Am¶ H$s {d{^ÝZ AdYmaUmAm| H$mo ñnîQ> H$s{OE&

6)	 Which factors are considered for demand forecasting of a 

consumer good.

	 EH$ Cn^moº$m dñVw Ho$ ‘m±J nydm©Zw‘mZ hoVw {H$Z VÎdm| na {dMma {H$¶m OmVm 
h¡?

7)	 Distinguish between Economic costs and Accounting costs. 

Which cost is more important in managerial decisions?

	 Am{W©H$ bmJVm| Ed§ boIm bmJVm| Ho$ ~rM AÝVa H$s{OE& BZ‘| go H$m¡Z-gr 
bmJV à~ÝYH$s¶ {ZU©¶m| ‘| A{YH$ ‘hÎdnyU© h¡?

8)	 Discuss the investment function as propounded by Lord 

Keynes.

	 bm°S>© H|$g Ûmam à{Vnm{XV {d{Z¶moJ ’$bZ H$s ì¶m»¶m H$s{OE&

9)	 Explain the factors which influence the demand for a  

commodity.

	 EH$ dñVw H$s ‘m±J H$mo à^m{dV H$aZo dmbo VÎdm| H$mo ñnîQ> H$s{OE&



271

MCOM-06 / 700 / 4 	 (4)	

	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& AnZo CÎma H$mo A{YH$V‘ 500 eãXm| 
‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Why most of the demand curves slope down from left to right? 
Is there any exception to it?

	 A{YH$m§e ‘m±J dH«$ ~m¶| go Xm{hZr Amoa ³¶m| PwH$Vo hþE hmoVo h¢? ³¶m BgHo$ 
H$moB© AndmX h¢?

11)	 Critically examine the Keynesian theory of employment.
	 H$sÝg Ho$ amoOJma {gÕmÝV H$m AmbmoMZmË‘H$ narjU H$s{OE&

12)	 “A competitive firm is a price-taker and output adjustor.” 
Elucidate this statement with suitable diagrams.

	 ""EH$ à{VñnYu ’$‘© H$s‘V J«hUH$Îmm© Am¡a CËnmXZ g‘m¶moOZH$Îmm© hmoVr 
h¡& Bg H$WZ H$s Cn¶wº$ aoIm{MÌm| g{hV {ddoMZm H$s{OE&

13)	 Write short-note on any two of the following:
	 (i)	 Discriminating Monopoly.
	 (ii)	 Profitability Analysis
	 (iii)	 Practical uses of Elasticity of Demand.
	 {ZåZm§{H$V ‘| go {H$Ýht Xmo na bKw {Q>ßnUr {b{IE…
	 (i)	 {d^oXmË‘H$ EH$m{YH$ma
	 (ii)	 bm^Xm¶H$Vm {díbofU
	 (iii)	 ‘m±J H$s bmoM Ho$ ì¶mdhm[aH$ Cn¶moJ


